
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Beregn prosentandel av tall

68 × 50% = ________ 52 × 60% = ________

83 × 80% = ________ 55 × 80% = ________

83 × 90% = ________ 30 × 80% = ________

53 × 40% = ________ 56 × 60% = ________

37 × 20% = ________ 73 × 70% = ________

47 × 90% = ________ 10 × 30% = ________

66 × 10% = ________ 28 × 80% = ________

24 × 80% = ________ 44 × 60% = ________

55 × 50% = ________ 59 × 50% = ________

93 × 10% = ________ 3 × 60% = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Beregn prosentandel av tall

68 × 50% = 34 52 × 60% = 31.2

83 × 80% = 66.4 55 × 80% = 44

83 × 90% = 74.7 30 × 80% = 24

53 × 40% = 21.2 56 × 60% = 33.6

37 × 20% = 7.4 73 × 70% = 51.1

47 × 90% = 42.3 10 × 30% = 3

66 × 10% = 6.6 28 × 80% = 22.4

24 × 80% = 19.2 44 × 60% = 26.4

55 × 50% = 27.5 59 × 50% = 29.5

93 × 10% = 9.3 3 × 60% = 1.8
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